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Solve the word problem:s.

Bill found 3 shells on the
north beach and 1 shell
on the south beach. How
many shells did Bill fingd?

1. Leah saw 3 cats. Then 2
more cats joined the 3
cats. How many cats did
Leah see?

2. Zach had 1 toy car. He got
2 toy cars for his birthday.
How many toy cars did
Zach have?

3. José went to the store.

He bought 1 orange and

2 apples. How many pieces
of fruit did he buy?

a had 1 doll. She gof
ore doll from her Aum‘
. How many dolls did

ate 3 grapes. Then
3 more grapes. How






 




 

